Mathematics 9-12

Binomials Behaving Badly

# What doesn't work. Why it doesn't.
s o s (2+3)°=5"=25  but... 2°+3=4+9=13
1. (a+b)*=a“+b . 2 2 2
However, it is true that: (a+b)“ =(a+b)(a+b)=a“+2ab+b
2. [a+b=+a++b J9+16=+/25=5 but... J9+16=3+4=7
3. VvaZ+b? za+b V5?2 4122 =/25+144=1/169=13=5+12 (Similar to #2 above.)
1 1 11 2 1 3
—— == but... ==t ==
1 11 2+4 6 2 4 4 4 4
4. b a b 1 1 b a a+b
a+ a However, it is true that: —+—=—+—=——
a b ab ab ab
5. (a+b)tzat+b! See #1 and #4 above.
6. la+b|=|d+|g -9+7=]-2=2 but... -9+|7]=9+7=16
7. sin(@+b) = sina+sinb sinB0°+60°) =sin90° =1 put... sin:«}0°+sine;o°=1+ﬁ=l+*/§
2 2 2
cos@+Db) = cosa+cosb
8. and Similar to #7 above.
tan@+b) = tana+tanb
o atb_a b 2+43_5 1 ot 2+43_2 3_1.1_,
c+d ¢ d 4+6 10 2 4+6 4 6 2 2
10. aLb;tlLb Ezizl but.. i‘?gﬂ
a+c 1+c 2+8 10 2 1+8 9
" atb b 2+43_5 1 out 1, 3.8.3 11
a+c Cc 2+8 1C 2 8 8 8 8
1 1 1 1 3 4_ 4
274t Ge} 24} 3 e TRTEEEMA
12. ) _1¢a+b This is actually an example of #4 above and thus:
a +b
1 1 1 ab
at+bt L+l 2 aip
In the sum: LJFL The common denominator of two dissimilar binomialaot usually
X+2 x+4 another binomial. Instead:
13. | the corrlnmon denominaétor 11 x+4  x+2 2%+ 6
is neitherx+4 nor x+ = =
nor is it x4 8 X+2 X+4 (X+2)(x+4) (X+2(x+4) (X+2)(x+4)
If: 1+1:E then the
a a b 1 1 1
14. | next step isi0t to take the Z+Z =5 does not mean that4d+4 =2
reciprocal of both sides to
give: a+a=>b
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